% ‘ (& Multiplikation av polynom

namn: Datum: Poing:
(2x+3)2x—9) (6+ 5x)(x — 3)
(2x* — 1)(x +3) 6— ) (4x—7)
(5x = 9)(7x — 9) (9% + 9)(x — 3)
(4x + 4)(8x + 5) (4x+2)(3x — 5)
(2x — 5)(3x — 6) (9x* — 8)(7x + 1)
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% ‘ (& Multiplikation av polynom

namn: Datum: Poéng:
2x+3)(2x—9) (6+ 5x)(x—3)
A’ — 12x—27 5x — 9x— 18
(2 = D(x +3) 6— P (4x—7)
2+ 62 —x—3 4 + T+ 24x— 42
(5x = 9)(7x—9) (9% + 9)(x — 3)
35x% — 108x + 81 O — 27x% + 9x — 27
(4x+ 4)(8x+5) (4x+ 2)(3x—5)
32x% + 52x+ 20 12x% — 14x— 10
(2x — 5)(3x — 6) (9% — 8)(7x+ 1)
6x> — 27x + 30 63x° + 9x% — 56x — 8
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